[7}4] oABCD 9|4 AB = DC, AD =
[2&][_1 ]/DC. AD//BC

[_Z_toﬂ] ] Ag;ﬁ cE o]onq

AABC ¢} ACDA 9| A

AB=DC (7}1&) @

AD = H3) -0

e e

A, ©, ®°l ¢ oHH AABC =aCDA (2 |8%)
/BAC = /DCA °|B 2

[ 1 ]/DC--®

/ACB=| b Jolm®

AD//BC---®

®, @l 94 DABCD = BaAPA P o]t}

D 1 :AB ® v :BC ® t: AC

@ = : SAS ® m: /CAD




ohe 18 9] AAZFABCD oA

=
L

o
>

BD
ZtAol, /ABD £ /BDC & o] 5HA
BE , DF 2 @t} AFZFEEBFD 7} ufER
2} /AEB 9] 37]%9 i

@ 40° @ 50° @ 60°
@ 65° B 75°




o 1HA ™ AHFE ABCD7FAD // BCYl ST E L of, oh&

T oo A2
A D
B C
[4]
HB7]

@ 2xAD =BC © ¢ABC = 2/ABD
© (DBC = /ACD ® ¢(BAC = /CDB
@ AABC = ADCB

OO0 0060 ®06 @®o o G&E 0



i%l%"ﬂ*i AM2BCO SHO|IL AP :
PC = 3 :29]t}. AABC = 40cm? ¥ o,
AAPM ¢] Hol=?

@ 4cm? @ 8cm?

@ 16cm?2 B 20 cm?

A
B I i
® 12cm?



5.

th 1% AD//BC, E//WOE} AB = 4cm,
1 T, AADE ©] 53¢] 4 ]—‘:—"

AE =2cm , BC = 8cm ¥

B 12



& 2l @ G & aABC ©] 2A %4 o)1, BE//DF oltk.
GE =3cm ¥ W, x,y 9 & xy 9] 32 5toi2t.

A

D 21 Q@ 24 3 27 @ 30 ® 33



HYPAHYP ABCD A BC, DCY $HS 44 M, N ©]
BD ¢} AM, AN 7}o] w¥o] P, Q ©]t}. oABCD = 90cm?
o, AABP 9] §lo]&=?

@ 10cm? @ 12cm? @ 15cm?

@® 18cm? 3 30cm?



?

ol

A

A 2

O
j )

o] Zdo]7} e,

T

N

© F

r9,6,06

@ Ax7

2:0,6,@

=
|

® v

1O, ©,®

® HA2E



oS 13 A /BAE = /CAD , /ABE = A
/ACD ¥ o], o8 & AABC &t S =3¢l

709

/\1_ H

O AABE ©@ aADC (@ aBCF

@ AAED (G ACDF



10. & oA AB=12cm, AD = 9cm , AC =acm, BC = 6cm ¥
o, x 9] & aol Bsto] LR HA?

A
\
|
I
!

acm
!

-~

D 3a o X @% @g ® 2



11. o= J94 BC//DE//FG & ©, x—y 2] k22




12. o2 2H9 AABC oA /DAB = A
(ACB , /DAE = /CAE ¢ o], x ¢ f
& TotH?

@ 6cm @ Tcm
® 8cm @ 9cm

3 10cm



13. o= "X f/m J/n J/pB W, x+y+z9 F2?

_ / I
X __A 2.5
my\ \

8 \ <

- n
/4 N
/ D



14. o2 189 AABC oA AB, AC 2] &3 o]
olgfal & uj, A 2] gro] L x| et E}% %')

Zb2F M, Nolil, a = 3

® 2(x-a)
8—a

w ‘



15.

AABC 9|4 A D, F, G & ZtZF A ¥
ZHolt}, AFBH = 6cm? ¥ 9], cAFHG
o] yo]=?

@D 12ecm?2 @ 15ecm? @ 16cm?

@ 18cm? ® 20cm?

Q



